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Please check whether you have got the right question paper.
N.B: 1. Attempt any five questions in all

[ Marks:100]

2. Attempt any three questions from section | and two questions from section Il

OR

attempt any two questions from section | and any three questions from

section Il
All answers should be written in the same answer book
4. Figures to the right indicate full marks.

w

Section |
Explain the following terms (any four):
Organizational Behavior
Management skills
Organizational citizenship behavior
Turnover
Diversified work force
Improving ethical behavior

State whether the following statements are True of False and give reasons for the
same(any four)

Attitudes have two components.

Employees give three responses to job dissatisfaction.

Job satisfaction is negatively correlated with employee turnover.

Satisfaction is the cause of deviant behavior

Organizational commitment is identifying with the organization.

There are cultural differences in the experience of job satisfaction.

Describe Maslow’s hierarchy of needs and Herzberg’s two factor model

Explain the following statements (any four):

Group development model has five stages.

All group members play a role.

Every group has certain established norms.

All members do not have same status in the group.
Brainstorming is one of the techniques of group decision making.
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Electronic meeting can blend NGT(Nominal Group Technique) with computer technology.

Discuss different ways to develop better working relationship
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Section Il
6. Explain the following terms(any four): 20
(a) Downward communication
(b)  Written communication
(c) Grapevine
(d) E mail
(e)  Selective perception
(f) Politically correct communication
7. Define leadership. Explain Fiedler’s Contingency model and Hersey Blanchard’s Situational 20
leadership theory
8. Write short notes (any four): 20
(a) Power
(b)  Scarcity dependency relationship
(c) Power tactics
(d)  Sexual harassment
(e)  Organizational politics
(f) Defensive behaviors
9. Give reason for the following statements(any four): 20

(a) Conflicts start with incompatibility

(b) For conflict to occur perception of conflict is essential

(c) Personal variables can be a source of conflict

(d) There are two ways of bargaining

(e) Personality traits affect negotiation.

(f) Sometimes a third party help is needed to find a solution

10. Define stress. Explain its symptoms. Discuss how the personal and organizational factors 20
contribute to stress.
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